C11-2.1-Sketch, Find 6,, 05, HW

Sketch O,
1500 P y 2100 + y _750 . Yy
X X N
Sketch 9,
309 In Quadrant | 709 In Quadrant Il 20° In Quadrant Il
N y r S y PN y
Find 6, for each 0,
-~ y S p v
Ostp = 150°
\ P X estp = 220P X estp == 65°
Find the smallest positive O, for each 0,
-_ y F S y y y
97« = 350 Xk X

O;

xL
550 6, =429
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3509 Ty
N
459 In Quadrant IV
PN y
N
PN y
N
GStP == 3150
PN y
6, = 60°
XL




C11-2.1-Sketch, Find — Oy, 000t HW

Find a negative O, for each 0,

y y y

-~ F S y

0, = 60°
Hr = 35° )i ): xk X;
’ 6, =55° 0, =42 '
Find a positive and negative 0., for each 0,
PN y N y - y
B¢, = 135° Oty = —55° _
stp = 13 stp . Osep = 230° Ostp = 50° .
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Cl1-2.2-ASTC +/—HW

Draw 2 triangles in the quadrants for the following statements

sinf > 0

cosd >0 ty tand >0 4y 2y
N X
. tanf < 0 i
cosf < 0 Ty Ty sinf <0 Ty
X‘ . X
Draw a triangle in the quadrant for following statements
cosf > 0 andsinf < 0 cosf < 0 andtanf >0 tand > 0 andsin6 > 0
-~ y -~ y - y
X
cosf < 0andsinf <0
cosf < 0andtanf <0 tanb < 0 and sinf > 0
-~ y -~ y -~ y
X X X
cosf < 0 andsinf > 0 cosf) >0 andtanf <0 tanf < 0 andsinf < 0
V'S y y -~ y
X A X
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C11- 2.3 - Trig Ratios HW SOH CAH TOA

Find sinx, cox, and tanx for the following points. And 8,

(4,3)
- ) —-3,4
y sinx = ( ) +y sinx =
x cosx = ) COSX =
tanx = tanx =
estp = gstp =
- y V'S y
(6,8) (8,—6)
-~ y -~ y
X X
(3.4) (2,V5) (5,12) (5,4V6)

Tri Page 4



C11- 2.3 - Trig Ratios HW SOH CAH TOA

Find sinx, cox, and tanx for the following points. And 8,

(—2,5) (3,-3)
Ty sinx = +y sinx =
x cosx = . COSX =
tanx = tanx =
estp = gstp =
(=5,-7) (-3,8)
-~ y - y
(4,2) (7,-1)
-~ y -~ y
; 3
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C11 - 2.3 - Trig Ratio Equations HW

Solve for x,0 < x < 360, answer should say x =

1

sinx = 0.6 coSX = —— cosx = 0.45
-~ y ‘- y -~ y
xt N x:
4 - 1
tanx = = tanx = < sinx = 3
5 PN
. y
PN y h y
X
X 14
> >
sinx = —0.1 tanx = —0.866
cosx = —0.5
V'S y -~ y + y
X
'Y b :
sinx = —0.2 tanx = 0.866 cosx = 2 sinx = 0.5 tanx = —1
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C11 - 2.4 - Special Trig Ratios HW SOH CAH TOA

Find sinx, cox, and tanx for the following points. And 8,

(1,1)
. (—=V3,1) .
S y sinx = -~ y sSinx =
COoOSXx = COSX =
N
f tanx = f tanx =
651'19 = Hstp =
1 1
( ) \/g) (_1’1)
- y
VS y
X
’ N
(-3v3,—V3) (-2v3,-2)
- y - y
N x
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C11 - 2.4 - Special Trig Ratios HW

Solve using the Special Triangles and ASTC and the Unit Circle

VN

y
X
)
sin30 = sin150 = sin210 = sin330 =
cos30 = cos150 = cos210 = cos330 =
tan30 = tan150 = tan210 = tan330 =
N
y
X
4
sin45 = 1 = ; —
Sin135 sin225 = sin315 =
c0s45 = 135 = =
cos c0s225 cos315 =
tan4s = tan135 = tan225 = tan31s =

Tri Page 8



C11 - 2.5 - Special Trig Equations HW

Solve for x,0 < x < 360, answer should say x =

1 1
2 sinx = — -
-~ y \/E -~ y 2 y
X
V3 cosx = !
COSX = —~ = Y
7 ., tanx . i,
y
X
> » N
. _ 1 _ V3
tanx = — R sinx = —— sinx = ——
y V2 y 2 1Ty
X X
. 1 V3 V3
sinx = —3 tanx =3 coSX = Y sinx =3 tanx = -5
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C11- 2.5 - Algebra Special Trig Equations HW

Solve for x,0 < x < 360

2sinx =1

V2cosx =1
Tty +y —2sinx =3 4 y
N
—\2sinx—1=0 2sinx—1=0 tanx — 2 = =3
VN y - y - y
N
. 1 2 2 — 1 2
sin®x = — cos“x = tan?x =1
4 PN -
y y -~ y
X
> N N
2 — = I = —
2tanx = 2 4cos®x—1=0 2sinx V3 2cosx = —/3 2cosx+1=0
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C11 - 2.6 - Unit Circle HW

Solve using the Unit Circle

Yy
X
4
sin0 = sin90 = sin180 = sin270 = sin360 =
cos0 = c0s90 = cos180 = c0s270 = cos360 =
tan0 = tan9o = tan180 = tan270 = tan360 =
-~
y
X
4
sin360 = sin450 = sin540 = sin630 = sin720 =
c0s360 = cos450 = cos540 = cos630 = cos720 =
tan360 = tan450 = tan540 = tan630 = tan720 =
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C11 - 2.6 - Unit Circle Trig Ratios HW SOH CAH TOA

Find sinx, cox, and tanx for the following points. And 6,

0,1) - sinx = sinx =
y (_1’0) P'S y
COSX = CcOoSX =
i X
 tanx = > tanx =
gstp = gstp =
(1,0) Ty .
0,-1) y
N
L4 x‘
(0'2) 1 Yy S
0,-3) y
X
’ 3
(4’0) S y )
(0,-5) Ny
X
> X
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C11 - 2.6 - Unit Circle Trig Equations HW

Solve for 6,0 < 0 < 360

sing =1 cosf = —1
4y cosf =0
- y
PN y
X
Y X
L4 x t
>
sinf =-1 . tand =und sinf =0 .
y y y
X
» N »
201 —
sincd —1=0
cosf =1 tanf = R
-~ y -~ y y
X
X »
> > v
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Cl11 - 2.6 - Factoring Trig Equations HW

Solve for x,0 < x < 360, by factoring, then setting factors equal to zero and solve.

sin® x — sinx = 0

- >

cos? x — cosx — 2

w %

L dol

2
cos“x +cosx =0
2cos?x —cosx —1 +

2 : _
. , sin“x+sinx—2=0
2sin? x + sinx — 1 +
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C11- 2.9 - Solve ASS Triangle Without Sine Law Notes

Solve the triangle

48°

36°
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C11-2.9 - Algebra Sine Law HW

Solve for the variable.

a 4 12 o c b _ 2
sin35°  sin27° sin52  sin30 sin20°  sin45°
b 4 12 a c 8
sin350  sin27° sin52  sin30 Sin25°  sin67°
sind sin29° sin23 _ sinC sin42  sinA
14 8 7 =% ot =—
sinC 1 sin11° sin43  sinC sin73 _ sind
5 1 21 4 2 7
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C11- 2.9 - Sine Law HW

Solve for b.

42°

Solve for the angle C

20

Tri Page 17

29°

71°



C11- 2.9 - Sine Law HW

Solve for b.

Solve for the angle C

15
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10

61°

24

47°



C11-2.10 - Solve SAS Triangle Without Cosine Law Notes

Solve the triangle.

34°

20
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C11-2.10 - Algebra Cosine Law HW

Solve for the variable. Enter the right hand side into your calculator, square root both sides.

2 = 42 4 52 — 2(4)(5)cos30 c? =10% 4 72 — 2(10)(7)cos60

c? =82 492 —2(8)(9)cos45 c? =112 + 42 — 2(11)(4)cos50

Solve for the variable. Do algebra to isolate cosC, then take the inverse cos™1( )

72 =52 + 92 — 2(5)(9)cosC 112 = 42 + 122 — 2(4)(12)cosC

9% =8 +7% —2(8)(7)cosC 20% = 212 + 352 — 2(21)(35)cosC
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C11-2.10- Cosine Law HW

Find the third side. B

50°
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C11-2.10- Cosine Law HW

Find the third side. B

A
6 a b
15
[290 — ¢ ¢
A 8
B 12

Find 6. 13

A 0 C
9 22
10
18
B
B
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C11 - 2.11 - Solve the Triangle Sine Law 180° HW

Solve the triangle.

B

26°

c 8
420 C
b
A
25
A

Tri Page 23

41°

54°

35



C11 - 2.11 - Solve Triangle Cosine/Sine Law HW

Solve the triangle.

10 a

39 C

20

15

11
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420

18

B

340



C11-2.12 - ASS Sine Law HW

How many triangles? Solve the triangles.

£A=30°b=10,a="5 _ C10.q-
2A=30%b=10,a=4 £A=30°%b=10,a = 12

2A=30°b=10,a=6

2A =120%b =8,a=10 ¢A =120%b =8,a=4
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*C11 - 2.0 - Review

Osep = 135,68, =?

(=34)

sinx =

COSX =

tanx =

gstp =

sin225 =

CoOSX = —

tanx = 0.4

sin® x — sinx = 0

sinx +sinx—2=0

sinx =
cosx =

tanx =

(1,0)

sinx =
coSx =

tanx =

estp =

cosf =0
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*C11 - 2.0 - Review

Osep = 210,68, =?

sin® x — sinx = 0

sinx +sinx—2=0

sinx =

(=2,3)

sinx =

COSX =

COSX =

tanx =

0,1

sinx =

CoOSXx =

tanx =

gstp =

cos135 =

tanx =

estp =

sinx = —

N =

tanx = —0.6

sing =1
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ASTC Review

Sketch O;,,.
150° TV

L 4ol

Sketch 6,
30° In Quadrant |

y

Find 6, for each 0,

-~

y

HStp = 1500
3

- %

Find sinx, cox, and tanx for the following points. And O,

(=34) 1

y

sinx =
CcoSXx =

tanx =

estp =

(=1,0)

14

Find O, for each 0,

Solve for x,0 < x < 360, answer should say x =

sinx = ——
2

P N

y

CoOSX = —
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Sl

- y
— (o]
6, =35 X
sinx =
X
) cosx =
tanx =
estp =
X



ASTC Review

Sketch O;,,.
1200 Tv

L 4ol

Sketch 6,
40° In Quadrant |
N y

Find 6, for each 0,

-~

y

Osep = 170°
N

14

- %

Find sinx, cox, and tanx for the following points. And O,

(1,-4) Ty

Solve for x,0 < x < 360, answer should say x =

sinx =
X’ coSx =
tanx =
estp =

P N

y

V2

cosx = ——
2

Rationalize!

0,-1) y

Find O, for each 0,

tanx = _\/§

- y
— (o]
6, =45 X
L4
sinx =
X
) cosx =
tanx =
estp =
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Sine/Cosine Law Review

B
20
A
420
8 17
540 C
b
A
B
4
500
/| __— ¢
A 6
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Sine/Cosine Law Review

B
29°
9
340
C
b
A
B
7
]
/48 C
A 9
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